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Specific Instructions : (i) There are total eight questions, in two Sections
printed both in Hindi and English.

(ii) Answer five questions, selecting atleast two
questions from each Section.

(iii) Marks are given against each part of the question.

(iv) All questions carry equal marks.
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@uE - 3/SECTION - A
1ﬁmaﬁwﬁmﬁaaﬁﬁqmmmmﬁéﬁmﬁrﬁml 15

Define organisation and discuss its types.

wﬁmﬁﬁqmmﬁﬁamﬁa%? 15
E

xplain the term ‘Power’. How does it differ from authority ?
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‘Organisational structure varies along with the stages of organisational
life-cycle’ - Discuss.
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2. (a)

(b)

(c)
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Explain that how organisational behaviour is an inter-disciplinary

concept.
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What do you mean by organisational politics ? Discuss the measures

15

to remove organisational politics.
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Discuss the modern theory of organisation. How does it differ from

system approach of organisation ?
- LA&P’"--.-‘\.—-\._,..__-
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What do you mean by organisational goal ? How are organisational
goals determined ?
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.(c

T AR Sifererat Seeardt et € 7 15
What is meant by organisational change ? What are the major external
and internal forces responsible for change in organisations ?

m%mﬁﬁﬁmwmﬁ%?ﬂawﬁﬁ%ﬁwmﬁﬁml 10

What do you mean by conflict ? Discuss th@of conflict
management.

4. (a)
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How does goal succession differ from goal displacement ? When does

goal displac?ment turn into goal 9isto rtion ?
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(b) weTE e @ rer fafaferat qen wiftrerm, ftemai va T #1 faeg
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‘Organisational structure refers to the differentiation and integration
of activities and authority, roles and relationships’ - Explain. '
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“Resistance to change is a normal part of the process of change” - Discuss.
@uE - 9/SECTION - B

5. (a mgﬁm@mﬁ%ﬁmﬁmmmﬁaﬁ{hmaﬁﬁéﬂ .
ST | - 15
) . 3 brry { .
/ Discuss the role of Human Resource Managers in developing the modern

organisations.

Mﬁnﬁﬁqﬂ%w%qa%gwmﬁml 15
D

escribe the selection process for the post of supervisor in an
organisation.
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How industrial relations can be improved in an organisation ?

6. (a) e <t fafr faftrrt < =ame Hifv | it aon @meq & fore
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Explain different methods of training. Also write down the benefits of
training for the employees and the organisation.

(b) TR T R ? A % ATervEeRaT YeshH figid H gotet % R frgra %
AT T i | 15

What is motivation ? Compare Maslow’s need hierarchy theory with
Herzberg's two-factor theory of motivation.

(c) mmm%mﬁmm&gﬁﬁﬁwﬁml 10
Discuss the significance of Human Reson.g'ce Nfanagement with reference
to Indian scenario.
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( T\ \ How does morale differ from motivation ? Explain the relationship
\J between morale and productivity of employees.
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‘A leader is not born but developed.” Do you agree with this statement ?
Explain with reasons.

s{m@m%ﬁwﬁ%?mﬁaﬁﬂﬁ@mﬁﬁmﬁﬁm 10

What is collective bargaining ? Explain somf collective
. bargaining. .

8/ ( % yrafera weight Aife s sl faveryer HifT |
1 Critically analyse the prevailing wage policy in India.
i‘é—zy\m o 5 g e - @ & 7 S el 7 v @
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\ What are the main reasons of industrial disputes ? How industrial
disputes can be managed ?

c) T 9T T RN i TG HEET 1 JUM HITT | 10

Describe the main drawbacks of Trade Union Movement in India.
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